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from Crypto.Util.number import
import os
from flag import flag
def gen():
e=3
while True:
try:
p = getPrime(512)
q = getPrime(512)
n=pq
phi = (p-1)*(q-1)
d = inverse(e,phi)
return p,q,d,n,e
except:
continue
return
p.q.d,n,e = gen()
getPrime(512)
m = bytes_to_long(flag+os.urandom(32))
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rom Crypto.Util.number import long_to_bytes
r = 7996728164495259362822258548434922741290100998149465194487628664864256950051236186227986990712837371289585870
678059397413537714250530572338774305952904473
M = 415951814454913741204857248519553618760618783386134951632603184305987250165479022693611527109112050978187292
5030241137272462161485445491493686121954785558
n = 1315529642737317427440014393264700354142708643481395940041179596312865001989563029133779479206775253192602421
2150719604332329237473659594394295619490281484220626887094148542933913242167636716762181226048262474382167118329
7023718573293452354284932348802548838847981916748951828826237112194142035380559020560287
e =3
c = 4679466400670841713214794191871993836567148517629317201457539220316200581354444472018115104681864841734629228
8656741056411780813044749520725718927535262618317679844671500204720286218754536643881483749892207516758305694529
993542296670281548111692443639662220578293714396224325591697834572209746048616144307282
R.<x> = Zmod(n)[]

(M+x'r)~3 - ¢

f.monic()
k = f.small_roots()[0]

m=M+Kk*r
print(long_to_bytes(int(m)))
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9746048616144307282
10d (n) []
) 3-c
.monic()
.small roots() [0]
810968823598060539864535
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long to bytes

. <x> = Zmod(n) (1
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f. monic ()
f.small roots()[ ]

m=M+k *r
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